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Uszian 1 |3 Diesel 2.7446|kg CO2</An3 & 270.0 74132| 27010 74132 54.40 149.31 270.0 74132 2700 74132| 27010 74132 27010 741.32 = = = -l 4asma721| co2e
siihi Gaschol 91, £20, EA5 2.2378|kg CO2/n3 &ns 5440 12173 54.40 121.73 5440 2173 54.40 2173 5440 12173 54.40 121.73 5440 2173 - - - - 55208 cO2e
shihi Gaschol 95 2.2376|kg CO2</An3 &ns 129.97 29052 12097 2062 12097 20082 wrag7 29082| 12997 20082 12097 20082 12097 29052 - . - -| 2.035.75| coze
Uszim 2 |mstimdsmilnr 0.5821|kg CO2=fWh kv 12510 | 654927| 1248050 | 7.25326| 1507550 | 8.77562] 4.76000 | 8.591.80| 16.74340 | 9.746.33| 16,620.00| 967450 21.900.00 | 12,747.99 - - - -| 63.338.77| coze
Usztom 3 [mstinszany Ad uas A3 (Bum) 2.0859|kg CO2=fkg kq 30.00 62.58 2500 52.15) 3500 7301 4750 2908| 5500 1472 5250 109.51 62.50 130.37, - = - - 64141| coze
siszlr-msUsalnamen 0.8008|kg CO2¢fm3 m3 257.00 20575| 39500 31624 29100 23297 28200 20078 354.00 28341 29000 23217 35200 25151 e - - -l 178212| coze
sucvaally (hnsu) 232|kg CO2:kg kq 237.50 55100| 30000 69500 15200 352.64 5150 18308 0750 24940 153.00 354.96| 169.00 39208 - - - -l 27s85.18| coze
Ll 8,522.46 9,47150] 9,996.10 10.24358 11,547.73 11,525.01 1470611 - = = -| 78.012.49| coze
o e
WnnfieBeunsesnnefufl ne: kCoZmsauuns) Rafuiimmin = 15,048 17 mswmns as7) 063 086 068 a.77) 0.77) 098 = 4 = = 5.05| coze
Winnfhmteunsssniean (mite: kgCo2/mi) Wailtsryas nsiomn = 1,118 m 7.62 8.47| 5.94) a.18 033 10.31 13.15] - - - - 96.71| CO2e
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HATIAN 8,52248 057 762
AHATAME 9.47150 063 847
Shnan 9,996.10 066 894
NYEN 0,243.58 088 9.16
weEmMAN 1,547.73 077 033
ﬁtpnma 1,525.01 077 1031
nINGIAN 14,706.11 098 1315
AN - - -
aee - = >
n_wmu - - -
nOHANIEN - - -
£33N - - -
Infly 0,85893 068 891
1szdnd) 2566 (H.A.-5.R.)
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" GHG % WHY
A
Yszem 1 7.49| 9.85 tC02e
Uszim 2 63.34 83.33] 102
Uszm 3 5.19 6.83 tCO2e
97K 76.01 100.00 tC02e




